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Sociology 

d{kk 12 oha                                            iw.kkZad 80 

le; 3%00 ?kaVs 

funsZ'k& lHkh ç'u vfuok;Z gSa& 

    1- ç'u Øekad 1] 3] 5 oLrqfu"B gS% çR;sd ç'u gsrq 6 vad fu/kkZfjr gSA 
    2- ç'u Øekad 2 ,oa 4 oLrqfu"B gSa- çR;sd ç'u gsrq 7 vad fu/kkZfjr gSaA 
    3- ç'u Øekad 6 ls 15 rd çR;sd ç'u ds fu, 2 vad fu/kkZfjr gSA 
    4- ç'u Øekad 16 ls 19 rd çR;sd ç'u ds fu, 3 vad fu/kkZfjr gSA 
    5- ç'u Øekad 20 ls 23 rd çR;sd ç'u ds fu, 4 vad fu/kkZfjr gSA  
    6- ç'u Øeakd 6 ls 23 rd lHkh ç'uksa esa vkarfjd fodYi fn, x, gaSA  
 
Instruction:- All question should be compulsory. 

      (i) Q. no.1, 3, 5 objective type question for each question carries 6 marks. 
(ii) From Q.no.2 to 4 objective type question for each question carries 7 marks. 
(iii) From Q.no.6 to 15 each question carries 2 marks. 
(iv) From Q.no.16 to 19 each question carries 3 marks. 
(v) From Q.no.20 to 23 each question carries 4 marks. 
(v) Internal choice is given in all the questions from questions no. 6 to 23 
 

ç-1 & lgh fodYi pqudj fyf[k,A             ¼1 x 6¾6½ 

¼i½ Hkkjr ds fdl jkT; esa lk{kjrk dk çfr'kr lcls vf/kd gSa \  

¼v½ xqtjkr   ¼c½  egkjk"Vª  

¼l½ dsjy   ¼n ½ rfeyukMw 

¼ii½ Hkkjrh; tkfr O;oLFkk esa ifjorZu ykus okyk dkjd dkSu lk gS \ 

¼v½ çtkfr   ¼c½ /keZ             

¼l½ f'k{kk   ¼n½ ifjokj 

¼iii½ dkSu lh tkfr vU; fiNM+s oxZ ds vUrxZr vkrh gSA 

¼v½ dk;LFk   ¼c½ lkgw  

¼l-½ tkV   ¼n½ Hkwfegj 



¼iv½ Hkwe.Myhdj.k dh n'kk esa fons'kh iwath ds fuos'k dks ns'k esa çksRlkgu nsus dh uhfr       

dks dgk tkrk gS&  

   ¼v½ vkS|kSfxd   ¼c½ futhdj.k 

¼l½ iwathokn   ¼n½ mnkjhdj.k 

¼v½ dkSu lh n'kk mnkjhdj.k dh lehirk dks n'kkZrh gS&  

¼v½ lektoknh O;oLFkk   ¼c½ m|ksxksa dk vk/kqfudj.k 

¼l½ yksxksa ds –f"Vdks.k esa mnkjrk      ¼n½ fefJr vFkZO;oLFkk 

¼vi½ rsyaxkuk vkanksyu dk mís'; D;k Fkk \  

¼v½ tkxhjnkjksa ds 'kks"k.k dk fojks/k  ¼c½ yxku ekQh dh ekax 

¼l½ xzkeh.k csjkstxkjh dk fojks/k    ¼n½ ca/kqvk etnwjh dk fojks/k 

 
Q.1. Write by choosing the correct option. 

¼i½ In which state in India has the highest percentage of literacy. 

(a) Maharashtra  (b) Gujrat 

(c)  Kerala   (d) Tamilnadu 

¼ii½ What is the factor that broad changed in Indian caste system. 

 (a) species   (b) Religion 

(c) Education  (d) Family 

¼iii½ Which caste under the OBC (other backward caste)  

(a) Kayastha   (b) Sahu 

(c) Jaat   (d) Bhumihar  

¼iv½ What is the policy of promoting foreign capital investment in the country in 

the condition of globalization.   

(a) Industrialization  (b) Privatization  

(c) Capitalism    (d) Liberalization  

 



¼v½ Which condition reflects the review of Liberalization.   

(a) Socialist system  (b) Modernization of Industries  

(c) Open Mindedness  (d) Mixed economy 

¼vi½ What was the objective of Telangana movement  

(a) Opposition to the exploitation of the Jagirdars  

(b) Demand for forgiveness of rent 

(c) Protest against rural unemployment  

(d) Opposition to bonded labour  

 
ç-2 &fjä LFkkuksa dh iwfrZ dhft,       ¼1 x 7¾7½ 

  ¼i½ la;qDr ifjokj ds eqf[k;k dks----------------dgk tkrk gSA 

  ¼ii½ Hkkjr esa lcls vf/kd tula[;k okyk çns'k------------------------gSA 

  ¼iii½ xkao esa fofHkUu cfLr;ksa ds fuekZ.k dk eq[; vk/kkj------------------------gSaA 

  ¼iv½ Hkkjr esa jk"Vªh; cht fuxe dh LFkkiuk lu------------------esa dh xÃA 

  ¼v½ fngkM+h etnwjksa dks dke ij yxkus dk dk;Z lk/kkj.k rFkk --------}kjk fd;k tkrk gSA 
       
  ¼vi½ cksaMks vkSj ehtksa vkanksyu dk laca/k Hkkjr ds------------------{ks= ls gSA 

  ¼vii½ lks’ky ewoesaV bu bafM;k iqLrd ds ys[kd dk uke------------------------gSA 

 
Q.2. Fill in the blank- 

¼i½ The head of joint family is called …………… 

¼ii½ .........................is the most populous state in India. 

¼iii½ ……………caste system is the main basis for the construction of different 
settlements in the village. 

¼iv½ The national seeds Corporation of India was established in the year……… 

¼v½ The work of hiring casual laborers is generally done by…………. 

¼vi½ The Bodo and Mijo movements are related to the …………….regions of 
India. 



 ¼vii½ The name of the author of the book social movement in India 
is……………. 

 
ç-3& fuEu esa ls lgh tksM+h cukbZ;s      ¼1 x 6¾6½ 

 ¼i½ bjkorh djos &  jktk jke eksgu jk; 

 ¼ii½ lekt lq/kkj ds tud& lkeqnkf;drk dh Hkkouk 

 ¼iii½ lkaL—frd igpku&  gfjr Økafr 

 ¼iv½ —"kd ÇjauxzLrrk esa òf)&  lkoZtfud m|ksxksa ljdkjh 

 ¼v½ fofufo'kslA &   fpidks vkanksyu 

 ¼vi½ xkSjknsoh &   fduf'ki vkxsZukbts'ku bu bafM;k 

 
Q.3. Match the following correctly : 

¼i½ Iravati Karve    - Raja Ram Mohan Rai 

¼ii½ Father of social reform  - Sense of community 

¼iii½ Cultural Identity    - Green Revolution  

¼iv½ Krishak rin grasttha me vriddhi -withdrawal of government capital from      

 public industries 

¼v½ Disinvestment    - Chipko Movement 

¼vi½ Goura Devi    - Kinship organization in India 

 

ç-4&fuEufuf[kr dk ,d okD; esa mÙkj nft,A            ¼1x7¾7½ 

¼i½ jsMQhYM us xzkeh.k leqnk; dks fdl uke ls lacksf/kr fd;k gS\ 

¼ii½ çHkq tkfr dh vo/kkj.kk fdlus çLrqr dh gSa  

¼iii½ Hkkjr esa vkikrdky dh ?kks"kk.kk fdu o"kkZsa esa dh x;h Fkh 

¼iv½ Hkkjr dh laL—fr esa cgqr ls egRoiw.kZ R;kSgkj fdl volj ij euk;s tkrs gSa\ 

¼v½ ftl lekt esa ,d cM+h la[;k esa yksx m|ksxksa }kjk vkthfodk çkIr djrs gSa mls 

 fdl rjg dk lekt dgk tkrk gS \    



¼vi½ Hkkjr esa mnkjhdj.k dh çfØ;k fdl o"kZ ls vkjEHk gqÃ\ 

¼vii½ varjkZ"Vªh; Je laxBu dh LFkkiuk fdl o"kZ esa gqÃ\ 

 
Q.4. Answer the following in one sentence. 

¼i½ By what name has Red filed addressed the rural community ? 

¼ii½ Who introduced the concept of dominate caste ? 

¼iii½ In Which year emergency was declared in India ? 

¼iv½ Many important festival in culture of India are celebrated on which occasion ? 

¼v½ The society in which a large number of people get their livelihood through 

industries is called what type of society ? 

¼vi½ In which year the process of liberalization started in India ? 

¼vii½ In which year was the international labour organization established ? 

 
ç-5& lR; vlR; fuf[k, %            ¼1 x 6 ¾ 6½ 

¼i½ Hkkjr esa tUenj dh rqyuk esaa e`R;q nj vf/kd gSa \ 

¼ii½ lkekftd fo"kerk dk can Lrjhdj.k ls ?kfu"B laca/k gSa \ 

¼iii½ ukxfjd lekt dh ç—fr xSj&jktuhfrd gksrh gS \ 

¼iv½ Lora=rk ds ckn Hkkjr esa fefJr vFkZO;oLFkk dks vikuk;k x;k \ 

¼v½ mnkjhdj.k ds QYLo:i Hkkjr ds varjkZ"Vªh; O;kikj esa òf) gqÃ\ 

¼vi½ xaxk ds çnw"k.k dks jksdus ls lacaf/kr dk;ZØe uekfe xaxs gSA 

 
Q.5. Write True, False :- 

¼i½ Death rate is more than Birth rate in India ? 

¼ii½ Social inequality is closely related to closed stratification ? 

¼iii½ Civil society is non-political in nature ? 

¼iv½ Mixed economy was adopted in India after independence ? 

¼v½ India’s international trade increased as a result of liberalization ? 



¼vi½ The name of the program related to preventing pollution of Ganga is Namami 

Ganga ? 

 
ç-6 tukafddh dk D;k vFkZ gS \       2 vad 

      What does demographics mean ? 

vFkok@OR 

tula[;k foLQksV dk D;k vFkZ gS\ 

What does population explosion mean ? 

 
ç-7 çfrLFkkiu Lrj fdls dgrs gSa\       2 vad 

     What is replacement level ? 

vFkok@OR 

uSlfxZsd vojks/k ls vki D;k le>rs gS\        

What do you understand by natural barrier ? 

 
ç-8 tkfr dks ifjHkkf"kr dhft, \        2 vad 

       Define caste ? 

vFkok@OR 

çtkfr dk D;k vFkZ gS \ 

Define species ? 

 
ç-9 iwokZxzg ls vki D;k le>rs gSa\       2 vad 

       What do you understand by prejudice ? 

vFkok@OR 

vU;Fkk l{ke* 'kCn dk D;k vfHkçk; gSa\ 

Otherwise what is the meaning of  the word capable? 

 
ç-10 ukxfjd lekt D;k gS \        2 vad 

         What is civil society ? 



vFkok@OR 

{ks=okn ls D;k rkRi;Z gSa] fyf[k, \ 

Write, What do you mean by regionalism  ? 

 
ç-11 Hkkjr dks ,d /keZ fujis{k jk"Vª D;ksa dgk tkrk gS \    2 vad 

        Why  is India called a secular nation ? 

vFkok@OR 

lekos’kh jk"Vª dk D;k vk’k; gSa fyf[k, \ 

Write What is the meant by inclusive Nation   ? 

 
ç-12 lajpUkkRed ifjorZu dk D;k vFkZ gS \      2 vad 

        What is meant by structural change ? 

vFkok@OR 

vkS|ksxhdj.k 'kCn dk D;k rkRi;Z gSa\ 

What is the meaning of the term industrialization  ? 

 
ç-13 fofuos'k ls D;k rkRi;Z gSa \        2 vad 

        Write, what do you meaning by disinvestment? 

vFkok@OR 

gM+rky rFkk rkykcan esa D;k vUrj gS\ 

What is the difference between strike and lockout  ? 

 
ç-14 fefJr vFkZO;oLFkk dh ifjHkk"kk fyf[k,\      2 vad 

Write the definition of mixed economy ? 

vFkok@OR 

Hkkjr esa mnkjhdj.k ds eq[; nks mís'; fyf[k,\ 

Write the main two objectives of liberalization in India ? 



ç-15 laL—frdj.k dk D;k vFkZ gSa \       2 vad 

What do you mean by sanskritization   ? 

vFkok@OR 

lekt lq/kkj vkanksyu dk D;k vFkZ gS\ 

What is the meaning of  social reform movement ? 

 
ç-16 Hkkjr esa tula[;k o`f) ds 3 dkj.k fyf[k,\     3 vad  

       Write three reasons for population growth in India ? 

vFkok@OR 

Hkkjr esa tukafddh ls lacaf/kr dksÃ 3 fo'ks"krk,a  fyf[k,\ 

Write any three features related to demography in India  ? 

 
ç-17 lkRehdj.k rFkk ,dhdj.k dh uhfr esa varj Li"V~ dhft,\   3 vad 

        Explain the difference between concretization and integration  ? 

vFkok@OR 

/keZ fujis{krk ds çeq[k vk/kkj fyf[k, 

Write the main bases of secularism  ? 

 
ç-18 vkS|ksxhdj.k ,oa uxjhdj.k esa 3 varj fyf[k,\     3 vad 

       Write three differences between industrialization and urbanization ? 

vFkok@OR 

eè;dky dks vaèk;qx D;ksa dgk tkrk gS\ 

Why is the medieval period called the dark ages  ? 

 
ç-19 uxjhdj.k dh 3 leL;k,a fyf[k,A       3 vad 

     Write three problems of urbanization  ? 

vFkok@OR 

czãlekt }kjk ftu dqjhfr;ksa dk fojks/k fd;k x;k foLrkj esa fyf[k,\ 

Write in brief the evils opposed by the Braham Samaj  ? 



 

ç-20 ifjokj lkekftd lajpuk dh /kqjh gS] bl dFku dks Li"V~ dhft,\  4 vad  

       Explain the statement that family is the spindle social structure  ? 

vFkok@OR 

ifjokj dh fo'ks"krk,a fyf[k,\ 

Write the characteristics of family  ? 

 
ç-21 lkekftd Lrjhdj.k dh fo'ks"krk,a fyf[k, ¼dksÃ 4½   4 vad  

        Write the features of social stratification (any four) ?  

vFkok@OR 

vU; fiNM+s oxZ dh leL;k,a fyf[k, dksÃ 4 

Write the problems of other backward classes (any four)  ? 

 

ç-22 Hkwfe lq/kkj ds dksÃ 4 mís'; fyf[k,\      4 vad 

         Write any four objectives of land reform ?  

vFkok@OR 

Hkkjr esa gfjr ØkfUr ds dkj.k dkSu lh ubZ leL;k,a mRiUu gqÃ fyf[k, ¼dksÃ 4½ 

Write what new problems arose due to the green revolution in India  (any four)  ? 

 
ç-23 ueZnk vkanksyu ij fVIi.kh dhft,\      4 vad 

       Write a note on Narmada Movement ?  

vFkok@OR 

efgyk vkanksyu ds eq[; eqís fyf[k, ¼dksÃ 4½ 

Write the main issues of women’s movement (any four)  ? 
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